
جزء الثالثال



:(Friction)الاحتكاك



:الاحتكاكمنأنواعثلاثةوهناك

:(الشروعي)الاستاتيكيالاحتكاك1.

ءبدقبلمباشرةيظهرالذيالاحتكاكهو

.بالحركةالجسم

الاستاتيكيالاحتكاكأنهووالسبب

الذاتيالقصورعلىالتغلبيتطلب

.للجسم

:(الانزلاقي)الكيناتيكيالاحتكاك.2

حركةخلاليظهرالذيالاحتكاكهو

.الجسم

طلبيتالكيناتيكيالاحتكاكأنحينفي

.بالحركةالجسماستمرار

برأكهيالجسملتحريكالمطلوبةوالقوة

.بالحركةلاستمرارهالمطلوبةالقوةمن

:التدحرجيالاحتكاك.3

الدراجةعجلةتدحرجحالةفيويحدث

ذاوهالقدم،كرةأوالتدويركاملةالهوائية

ثحيقيمة،الاحتكاكمعاملاتأقلالمعامل

قطة،نمنبأكثربالانزلاقيالجسميتصل

بنقطةالسطحمعبالتدحرجيويتصل

.فقطواحدة



















:(Energy)طاقة ال











:الجواب 
قبل التصادم                     بعد التصادم

(V) (m1 + m2)     =  V2M2 + V1M1
(V) (m1 + m2)     =  V2M2 - V1M1
V  x  170kg           =  (7m/s x 80kg) - (6m/s x 90kg)
V  x  170kg =  (560kg.m/s) - (540kg.m/s)
V  x  170kg           =   20kg.m/s

20kg.m/s  
V    =

170kg 
     V    =    0.11m/sسرعتهما بعد التصادم وباتجاه اللاعب الثاني







:(Pressure)ضغط ال





،(556n)وزنهاباليهلاعبة/س

للحذاءالاماميةالمنطقةمساحة

المدببالفنيبالأداءالخاص
(2CM4)،الكليةالمنطقةومساحة

المستويالاعتياديالمشيلحذاء
(2CM175،منكلأوجد:

بواسطةالمبذولالضغطقيمة1.

حذاء؟كل

المسلطالضغطكميةمقارنة2.

الحالتين؟كلابواسطة




